% B & % T (A4E) Hiimm
N X 2650 ES= F12 12
2650 L 2650 2650 2650 L faes = £
65 6X420=2520 130 2520 2520 13 6X420=2520 65 b | BPE F1z 1.2:1.6
N 5 | #HEEE F12 1.6
] © 6 | F12 12416
=+ 1T | REH® F12 23
8 | RPREFAER F12 32
9 | tiTE Y10 1.6
10 | itk Y10 1.6
N=) =1 n | ®EE Y10 1.0
® (A 12| RepAi F12 10432
A A 3 | R F12 1.0+3.2
75 N b | RPERIR Y10 1.0
~ 15 | FRAN- F12 23
3 16 | 2PnN- Y10 0.7
@ 17 | BEPR F12 16
A 18 | BED F12 1.6+2.3
~ 19 | BRS=V Y10 0.5
- 20 | #EBEM THM)-RIE- | RUIFLYIx—4 40
N 21 | BNz F12 06
o 22 | BREA Y10 0.7
n 23 | BREVHEIE Y10 0.7
2L | O-F—-28 F12 23
25 | Yrvo—- 708 0.5
o 26 | v v I AN F12 01
g 27 | S+ w9—L—)b FIVIZ D LEEFHMT
~ F12- 5@ &9 > F@IRUIS G 3302)
= Y10 BEER-5% 7 VI =0 AED - F\RIIS G 3317)
g 208~ 2K BFRTEHD > FMIR(IS G 3312)
Pad
[\
;- 4 =
AHROBEO T AHROBE0 =
100 2362 L8 2362 2362 48] |48 2362 48]/ 100 =
92
N X 2650 +8
N X 2650 +160 6015
80 N X 2650 80 _ 140 5735 140
O
/ “L 1000 o,
i 7 ] 7 I
Il -1
/
ll
x / LN
E / - L:
/ NSIEAS
pa ES 2 e =
{I]IE / *]IE — o~
= E N
% (==} [==] <jlf [==] — —
~ /
/
s B
VGL / =

~

KL EMI - FEMIFICENTITREDREFR L, ERHIC
SCTHMTYE - T ABENDELLHEENHYFET,

[

5 12 &

HIELA

NO.065

GR—15

<H#HsR> S=1/50
~ZEHE~

OSL

OE#BANO T :%:2362 % 1818(mm)

OREHENGERE] x 15.20mi(4.611F)

N3 25 FE B 8 1 PR



